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ĐỀ CƯƠNG ÔN TẬP HỌC KỲ II

MÔN TIẾNG ANH K11

I. Mục đích yêu cầu:

1. Mục đích:



+ Nhằm giúp học sinh ôn tập hệ thống lại kiến thức đã học trong học kỳ II.


+ Hướng dẫn học sinh làm quen với các dạng bài có trong kỳ thi.
2. Yêu cầu:



+ Học sinh cần có sự chuẩn bị trước: tự xem lại ngữ pháp, từ vựng đã học, làm đề cương có kèm theo giải thích.



+ Học sinh cần học thuộc lòng các cấu trúc ngữ pháp, từ vựng, chú ý cách phát âm các từ, các đuôi.

II. Nội dung:
     
+ Ngữ âm, từ vựng Unit 9, 10, 11, 12, 13, 15, 16
     
+ Cấu trúc ngữ pháp Unit 9, 10, 11, 12, 13, 15, 16

+ Mệnh đề quan hệ với who, whom, which, that, whose, where, when


+ Mệnh đề quan hệ thay thế bằng V-ing, PII, toV.


+ Câu chẻ nhấn mạnh chủ ngữ, tân ngữ, trạng ngữ (dạng chủ động, bị động)


+ Cách sử dụng could/ be able to


+ Câu hỏi đuôi

          + Cấu trúc : It is said that…/ People say that….



+  Đọc hiểu về các chủ điểm từ Unit 9 - 16 (chọn đáp án đúng điền vào chỗ trống trong đoạn văn hoặc dựa vào bài đọc hiểu chọn đáp án đúng)


+  Viết lại câu sao cho nghĩa không đổi, nối 2 câu đơn thành 1 câu hoàn chỉnh.

-   Dạng bài: 100% TNKQ
PRACTICE TEST FOR UNIT 9 + 10
Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.
1. A. facsimile 

B. transfer 

C. spacious 

D. fax

2. A. ready 


B. friend 

C. telephone 

D. speedy
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions. 

3. A. protect 


B. prohibit 

C. pollute 

D. cultivate

4. A. agriculture 

B. extinction 

C. environment 
D. establishment
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 

5.  Human beings have a great influence ________ the rest of the world.


      A. in
    B. of
    C. on

   D. about

6. Tropical forests have __________us with many sorts of plants for food, medicine, and industry.


A. affected
B. influenced
C. changed
D. provided

7. Britain has still been proud of the cheapest postal __________.


A. sending
B. care
C. service
D. delivery

8. Because of people’s _________with the environment, many kinds of plants and animals are becoming rare.


A. supply
B. survival
C. interference
D. influence

9. Human being can not__________without water and air.


A. result
B. exist
C. kill
D. change

10. The Earth is one of the __________in the solar system.


A. planets
B. resources
C. environments
D. results

11. Many scientists have claimed that _________ like music are often good at mathematics.


A. children
B. children who 
C. children whom 
D. whose children

12. - "That's a very nice skirt you're wearing." - “ ……”

     A. How a compliment!

B. That's all right.

     C. It's nice of you to say so.
D. I like you said so.

13. She has two grown children, both of __________live abroad.


A. whom
B. who
C. that

D. whose

14. It was a kind of computer with __________I was not familiar.


A. that
B. who
C. which

D. whom

15. Yesterday I went to _________ I had never been to before.


A. Thanh Ba Post Office, that
B. Thanh Ba Post Office where


C. Thanh Ba Post Office which
D. Thanh Ba Post Office, which

16. - " ……………………….
"

      - "Yes, of course."

     A. You won't help me this time.
B. You'd better give me one hand.

     C. I don't think I'll need your help.
D. Could you give me a hand?

17. ________ is one of the most important capitals in the world. 


A. London, that the place I was born 
B. London, which I was born 


C. London, I was born,

D. London, where I was born,

18. _________ has just won an international scholarship.


A. David Pike, whose parents are both teachers,
B. David Pike whose parents are both teachers


C. David Pike parents of who are both teachers
D. David Pike, whom parents are both teachers

 Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.

19. If you go to the post office, please post these letters.


A. fax
B. send
C. sign
D. stamp

20. There was no mention of the incident in the national press.


A. television 
B. newspapers 
C. Internet 
D. radio
21. People in this region cultivate mainly rice and vegetables.

A. destroy 

B. grow 

C. develop

D. support

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions. 

22. The hotel staff are always friendly and courteous.

A. efficient

B. impolite 

C. helpful 

D. perfect

23. We offer a speedy and secure service of transferring money in less than 24 hours.

A. uninterested 
B. unsure 

C. slow 

D. open

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks.
The scarcity of tigers and African elephants is more and more serious. They are (24) ______ because poachers hunt them in order to sell tiger pelts and elephant ivory.


 At least 4,000 (25)_______are killed each year in order to meet the global demand for elephant ivory, which is used to make carvings, jewelry, and other products although it is illegal to sell ivory since 1989 anywhere.

 
As for tigers, their parts are used in traditional Chinese medicine. Tiger bones (26)______ used as a pain reliever in traditional medicine. Even tiger's whiskers are (27)_____ because some people in Asia think they are a good-luck charm- like a rabbit's foot in (28)________ United States. "Part of our job is education," said Professor Dillon. "The other part is law enforcement. So we have more than one strategy."

24. 
A. endanger       
B. endangered
C. dangerous         
D. danger

25. 
A. elephants       
B. elephant        
C. tigers                  
D. tiger

26. 
A. be                     
B. is                 
C. are                      
D. been

27. 
A. to sell          
B. sold              
C. sell                      
D. be sold

28.
A. the
B. a
C. an
D. Φ

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions. 
Today from crude oil we make gasoline for our cars, diesel fuel for our trucks and ships, and jet fuel for our airplanes. Crude oil is a' mixture of organic chemicals of liquids and dissolved gases which are of little use in crude state. In addition, oil is used to generate electricity, heat our buildings, lubricate our machines, and even make plastics, detergents chemicals. Oil has transformed our daily lives. In fact, nearly one third of the world's oil comes from offshore fields in our oceans. Areas which are the most popular for oil drilling are the Arabian Gulf, and the Gulf of Mexico. Recently, more attention has been focused on finding and producing oil offshore. One of the first offshore oil rigs was built in 23 of water in the Gulf of Mexico in 1947. Because of engineering and technological advances, it is possible to operate in deeper and more hose waters. We can now build platforms for oil production taller than most of the world's skyscrapers and anchor them to the sea floor in waters deeper than 1300 feet. The larger platforms hold thousands of as of equipment and can accommodate hundreds of people who work and live there to ensure that oil is produced around the clock.

29. The passage is about _________



A. oil's usefulness and harvesting oil 
B. generating electricity from oil. 


C. crude oil

D. oil from offshore.

30. Oil is NOT used for _________



A. operating airplanes
B. running cars


C. lubricating machinery
D. growing trees 

31. Oil ____________


A. all comes from offshore
B. all comes from land


C. can transform human life
D. has been used up

32. Oil is produced ____________


A. on platforms offshore 
B. in undersea areas


C. in deep water

D. the world's skyscrapers
33. Which sentence is NOT true'?


A. We cannot live on an oil platform.
B. There are many people working on an oil platform.

   
C. Oil is produced all day and night.
D. There is a lot of equipment on an oil platform.
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions. 
The last two decades have seen enormous changes in the way people's lives are affected by IT. Twenty years ago, few people had access to a computer whilst today most people use them at work, home or school and use of e-mail and the Internet is an everyday event. 

These developments have brought many benefits to our lives. E-mail makes communication much easier and more immediate. This has numerous benefits for business, commerce, and education. The World Wide Web means that information on every conceivable subject is now available to us. Clearly, .for many people this has made life much easier and more convenient.

However, not all the effects of the new technology have been beneficial. Many people feel that the widespread use of e-mail is destroying traditional forms of communication such as letter writing, telephone and face-to-face conversation. In addition, the huge size of the Web means it is almost impossible to control and regulate. This has led to many concerns regarding children accessing unsuitable websites. In conclusion, developments in IT have brought many benefits, yet I believe developments relating to new technology in the future are likely to produce many negative effects that will need to be addressed very carefully.

34. In the last twenty years

A. there have been dramatic changes in the field of computer science

B. people's lives have been changed a lot because of the invention of the computer. 

C. the World Wide Web and e-mail communication have affected modern life. 

D. there have been developments in telecommunications.

35. According to the passage, E-mail

A. reduces face-to-face contact 



B. can be checked quickly and easily

C. is used only in business 



D. takes a lot of time to transmit

36. The World Wide Web and e-mail communication

A. causes a busy and exciting life



B. have also been used for education purpose

C. is difficult to get access to



D. is destroying traditional customs

37. What does the IT stand for?

A. Information Transfer 




B. Information Transmission

C. Information Theory 




D. Information Technology

38. Which sentence is NOT mentioned?

A. The World Wide Web is difficult to navigate.

B. The World Wide Web provides information.

C. The World Wide Web is difficult to control.

D. E-mail communic8.tion is quick and easy.

39. The writer thinks future IT developments will be

A. more positive     
B. more negative     

C. more rapid   
D. unexpected

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions. 
40. The install will take place one week after registration.

                 A                 B                             C        D

41. The man to who I spoke in the meeting used to work here.

        A                    B                   C                                 D 

42. He is moving to Lang Son city, that is in the north-east of Viet Nam.

                  A                                      B          C                     D 

43. They are changing the environment by build cities and villages where forests once stood
                         A                                           B                                     C

       D
44. Now that I no longer have to wear uniform, I'll be able to wear which I want.

          A             B                                         C                      
    D

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions. 

45. If he had hurried, he would have caught the train.

A. He had to catch the train, so he was in a hurry.

B. He missed the train because he didn't hurry.

C.  He doesn't hurry, so he won't catch the train.

D. The train was delayed, so he wouldn't have to hurry.

46. 'Sorry madam, looking after the garden is not my duty.'

A. He apologized for not looking after the garden.

B. He promised to look after the garden. .

C. He said that he was not responsible for looking after the garden.

D. He asked me if looking after the garden was his duty.

47. Although she has less teaching experience than the other staff member, she is one of the best teachers.

A. She is one of the best teachers because she has taught longer.

B. Other members of the staff teach less than she does.

C. She has the best experience of all the teachers on the staff.

D. She is one of the best teachers in spite of her having less experience.
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions. 

48. John was not here yesterday. Perhaps he was ill.

A. John needn't be here yesterday because he was ill.

B. Because of his illness, John shouldn't have been here yesterday.

C. John might have been ill yesterday, so he was not here.

D. John must have been ill yesterday, so he was not here.

49. You don’t try to work hard. You will fail in the exam.

 A. Unless you don’t try to work hard, you will fail in the exam.

B. Unless you try to work hard, you won’t fail in the exam.

C. Unless you try to work hard, you will fail in the exam.

D. Unless do you try to work hard, you will fail in the exam.

50. That man is a newcomer in our company. Do you know him?


A. That man is a newcomer in our company. Do you know whom?


B. That man who is a newcomer in our company. Do you know him?


C. Do you know him that man is a newcomer in our company?


D. Do you know that man who is a newcomer in our company?

PRACTICE TEST FOR UNIT 11 + 12
Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.

1. A. alternative
B. solar
C. replace
D. available

2. A. energy
B. extinct
C. preparation
D. develop

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions. 

3. A. athletics  
B. hockey 
C. volleyball 
D. rugby

4. A. volunteer 
B. competition 
C. enthusiastic
D. intercultural
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 

5. We may have a lot of energy if we can make full use _______ the energy from the sun.


       A. in
     B. from
   C. of
   D. on

6. Patient: "Can I make an appointment to see the doctor, please?" Receptionist: “……..”


A. Not at the moment. He can't be disturbed.
B. OK, you will need to check my diary.


C. OK, let me just check the diary.
D. Have a seat and I'll be with you in an hour.

7. The solar energy can change _________electricity.


       A. to
     B. for
    C. with
    D. into

8. “Wow! What a nice coat you are wearing!” – “ …….”


A. Certainly. Do you like it, too?
B. I like you to say that


C. Yes, of course. It‘s expensive
D. Thanks. My mother bought it for me.

9. Lily, who won the gold medal, is a Chinese ________.


A. gymnastic
B. gymnastics
C. gymnasium
D. gymnast

10. The winners of each event were presented with gold, silver, and bronze ________.


A. flags
B. medals
C. banners
D. efforts

11.  The 14th Asian Games attracted 9,919 ________ from 44 countries.


A. participates
B. participated
C. participant
D. participants

12. These are the people ________ for the bus.


A. waited
B. to wait
C. waiting
D. to waiting

13. The house ________ blue is my cousin’s.


A. to paint
B. painting
C. painted
D. to painting

14. The last person ________ must switch off the lights.


      A. to leave
    B. leaving
    C. left

   D. to leaving

15. He was the first person ________ for a position in that company.


A. to interview
B. interviewing
C. to be interviewed

D. which is interviewed

16. The car at ________ you are looking is Mr. Pike’s.


A. x
B. that
C. which
D. whom

17. The picture ________ my uncle painted is on display at the exhibition.


A. Ø
B. who
C. whom
D. All are correct

18. That is the girl about________ I told you.


A. Ø
B. which
C. whom
D. Both A & C

19. A survey on alternative sources of energy ________ out by those scientists will be reported to the public next week. 


      A. which carried     B. that carried
    C. carried
     D. carrying

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.
20. How long will it be before the world's fuel supplies are exhausted?

        A. got rid of
     B. used up
   C. put up with
   D. gone out

21. Only 489 athletes took part in the first Asian Games. 



A. gave up
B. participated in
C. advanced
D. added to

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions. 

22. He is a typical optimist, always looking on the bright side of everything.

A. pessimist
B. introvert
C. extrovert
D. activist

23. When I was going shopping yesterday, I accidentally met one of my old friends in high school.

A. by far
B. by heart
C. by chance
D. on purpose

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks.

The 16th Asian Games will be held in Guangzhou, China ________ (24)  November 12, 2010 to November 27, 2010. Guangzhou is also the second city in China to host the games after Beijing ________ (25) 1990. Forty-one events are scheduled to be competed, making the most events to be competed in history of the Asian Games.


Four ________ (26) were bidding for this event at the early days of March 2004. They were Amman, Guangzhou, Kuala Lumpur and Seoul. However, Seoul withdrew after considering the short span of time between the 2002 (in Busan, South Korea) and the 2010 event. With the withdrawal of Amman, soon after Seoul, Kuala Lumpur also quit the bid after the country’s Sports Minister refuses for the high cost of ________ (27)  the games. With Guangzhou left, the Olympic Council of Asia announced the city won the bid to host the Asian Games ________ (28)   July 1, 2004.

24. 
A. between
B. from
C. among
D. behind

25. 
A. on
B. since
C. in
D. at

26. 
A. city
B. cities
C. provinces
D. capitals

27.
A. host
B. hosted
C. to host
D. hosting

28. 
A. on
B. since
C. in
D. at

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions. 
Almost all of our energy comes from oil, coal, and natural gas. We call them fossil fuels. The earth’s fossil fuels are running out. What will happen when there is no oil, coal and gas on the earth?

Scientists are trying to find and use other alternative sources of energy. We can use energy from the sun, the wind and the water.

Solar energy is unlimited. The sun supplies all the energy used to grow plants, to evaporate water for rain, and to maintain the temperature of the planet. All are necessary for human life. If we are able to collect solar energy, we will be sure to have this abundant source of power.

29. 
Fossil fuels contain _________.


A. oil, coal, and natural gas.
B. oil, coal, and solar energy


C. nuclear power, coal, and natural gas.
D. alternative sources of energy

30. 
The phrase “running out” is closest meaning to_______.


A. infinite
B. exhausted
C. clean and safe

D. unlimited

31. 
The energy from the sun is used to ____________.


A. grow plants

B. evaporate water for rain



C. to maintain the temperature of the planet 
D. All are correct

32. 
Which is NOT one of the alternative sources of energy?


A. the sun
B. the wind
C. the water

D. coal

33. Solar energy is ___________


A. limited
B. unlimited
C. polluted

D. dangerous

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions. 
The search for alternative sources of energy has led in various directions. Many communities are burning garbage and other biological waste products to produce electricity- Converting waste products to gases or oil is also an efficient way to dispose of wastes. Experimental work is being done to derive synthetic fuels from coal, oil shale, and coal tars. But to date, that process has proven expensive. Other experiments are underway to harness power with giant windmills. Geothermal power is also being tested. Some experts expect utility companies to revive hydroelectric power derived from streams and rivers. Fifty years ago hydroelectric power provided one third of the electricity used in the United States, but to day it supplies only 4 percent. The oceans are another potential source of energy. Scientists are studying ways to convert the energy of ocean currents, tides, and waves to electricity. Experiments are also underway to make use of temperature differences in ocean water to produce energy.

34. What is the best title of the passage?

A. The Use of Water Products for Energy
B. The Search for Alternative Sources of Energy

C. Efficient Ways of Disposing of Waste

D. New Discoveries in Geothermal Power

35. What provided one third of the electricity in the United States fifty years ago?

A. wind 

B. waste products 

C. water 

D. oil

36. What could Rest replace the phrase 'geothermal power' in the passage?

A. heat from the earth



B. gases in the earth's atmosphere

C. steam that shot up out of the earth 

D. water in the ocean, lake, or river

37. Which of the following is not mentioned in the passage as an alternative source of energy?

A. Burning of garbage 



B. Geothermal power

C. Synthetic fuels 




D. Electricity.

38. According to the author, what is the impracticability of using coal, oil shale and coal tars' as sources of energy due to?

A. They take a lot of time 


B. They are expensive

C. They are non-renewable resources    

D. They are scarce resources

39. What can be inferred from the paragraph?

A. All alternative production of energy will be derived from water.

B. Hydroelectric power will be the main source of energy.

C. Synthetic fuels will be the principal source of alternative energy.

D. Alternative energy will come from a variety of sources.

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions. 
40.  Water provides energy without pollute.

A           B 
      C         D

41. The picture to which they are looking is very expensive.
        A                     B                        C                        D 

42. They work in a hospital build by good builders.

                  A    B                    C    D

43. The woman talked to me is Hoa’s mother.

              A             B    C                   D

44. Louisa May Alcott, she best known for her books for children, served as a nurse during the Civil War.

                                         A
                             B
                           C

         D
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions. 

45. 'Get in my car. I'll take you to the station.'

A. He offered to give me a lift to the station.

B. He suggested taking me to the station.

C. He promised to give me a lift to the station.

D. He agreed to take me to the station.

46. 'Why didn't you join your friends on the trip?' she asked.

      A. She wanted to know why I hadn't joined my friends on the trip.

      B. She asked me why I didn't join her friends on the trip.

      C. She suggested that I join my friends on the trip,

      D. She asked me why didn't I join my friends on the trip.

47. Had she read the material, she would have been prepared for class.

      A. She knew the answer to the question.

      B. She was not prepared for class.

      C. She had read the material, but she didn't know the answer.

      D. Even though she hadn't read the material, she knew the answer.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions. 

48. John was not here yesterday. Perhaps he was ill.

      A. John needn't be here yesterday because he was ill.

      B. Because of his illness, John shouldn't have been here yesterday.

C. John might have been ill yesterday, so he was not here.

D. John must have been ill yesterday, so he was not here.

49."Cigarette?", he said. "No, thanks. ", I said.

A. He asked for a cigarette, and I immediately refused.


B. He mentioned a cigarette, so I thanked him.

C. He offered me a cigarette, but I promptly declined.


D. He asked if I was smoking, and I denied at once.

50. I picked up my book. I found that the cover had been torn.  

    A. When picking up my book, the cover had been torn. 

    B. On picking up my book, I saw that the cover had been torn.

    C. The cover had been torn when my book picked up.

    D. Picked up, the book was torn.

PRACTICE TEST FOR UNIT 13 + 15
Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.

1. A. accompany
B. accomplished
C. avid
D. advance

2. A. lifted
B. lasted
C. happened
D. discarded
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions. 

3. A. scientist 
B. president 
C. engineer 
D. astronaut

4. A. conquest 
B. venture 
C. technical 
D. artificial.

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 

5. I collect almost my stamps from ____________ envelopes.

 
A. discarding
B. discard
C. discards
D. discarded

6. I will make my book ____________ richer and richer.


A. collect
B. collector
C. collected
D. collection

7. A / an ____________ is a person who is trained for traveling in a spacecraft.


A. astronaut
B. scientist
C. engineer
D. technician

8. The town Gzhatsk was named ____________Gagarin after his death.


A. before
B. after
C. along
D. with

9. Many spacemen could never get back to the Earth because of _______ accidents.

 
      A. tragedy
    B. tragic
    C. tragically
     D. tragedies

10.  “Would you mind turning down the TV? I’m working!” - “____________.”        

    

A. Yes, I’m working, too.          
B. Not at all. I’ll do it now.

    

C. Thank you. I’m pleased. 
D. No, I wouldn’t be working.

11: “Please, lock the door carefully before you leave the room.”  -  “____________.”   

    

A. I won’t tell you when I do it.    
B. I’m thinking of selling the house.

    

C. That’s for sure.

D. I’m sorry. I did it last night.

12. ___________ in every bedroom.


     A. Television finds

B. Television that can be found


     C. It is television that finds
D. It is television that can be found

13. ____________ us relax our mind.


    A. Recreation that helps
B. Recreation which helps


    C. It is recreation helps
D. It is recreation that helps

14. It is ___________ I enjoy myself very much.


   A. in summer that         B. in summer
        C. summer that
    D. summer which

15. David had a happy birthday party, ____________?

      A. hadn’t he
    B. had he
   C. did he
 D. didn’t he

16. I am on duty today, __________?


      A. will I
         B. don't I
        C. am not I
      D. aren't I

17. Let's begin the meeting,_________? 



      A. don't we
         B. do us
        C. won't we

     D. shall we

18.  After three months' staying in bed unconsciously, at last he ______ stand up and tell us what had happen to him.



A. could
          B. could not
         C. was able to
       D. was not

19. It was so noisy that we ______hear ourselves speak.

A. could
          B. could not
         C. was able to

      D. was not able
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.
20. Gagarin could have made another space flight if a tragic accident had not occurred.

      A. happened
    B. lasted
    C. viewed

   
D. dealt 

21. The astronauts were able to send the information back to the earth.

A. spaceships 

B. space stations 
C. spacemen 


D. space shots

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions. 

22. There are number of things I like to do in my free time.


A. pleisure 
B. precious 
C. busy 
D. idle

23. My uncle, who is an accomplished guitarist, taught me how to play.


A. unimpaired 
B. unskilled 
C. ill-educated 
D. unqualified

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks.

My hobby is (24)_______ books. I inherited a valuable collection of books from my father and up till now my cultural treasures have been preserved carefully.

I read books whenever I have (25)_______. I love reading books because books help me broaden my mind and improve my knowledge. They help me distinguish the bad from the good and prevent me from doing wrong. Reading books also brings me happiness and pleasures. Books are my true companions because they help me soothe my sorrows and hardships.

I (26)_______  all kinds of books such as story books, books about famous people, books about children, books about international affairs. First I classify books (27)_______  themes such as animals, plants, landscapes, and people. Then I classify books of themes into categories, for example, books about famous people are classified into heroes, scientists, politicians, famous singers and footballers.

I continue collecting books whenever I have money and wherever I go, both within the country (28)_______  abroad

24.
A. reading
B. buying
C. selling
D. lending

25.
A. time
B. money
C. book
D. newspapers

26.
A. collecting
B. collect
C. collection
D. collector

27. 
A. about
B. into
C. in
D. to

28. 
A. but
B. or
C. nor
D. and

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions. 
Hobbies are practiced for interest and enjoyment, rather than financial reward. Examples include collecting, creative and artistic pursuits, making, tinkering, sports and adult education. Engaging in a hobby can lead to acquiring substantial skill, knowledge, and experience. However, personal fulfilment is the aim.

What are hobbies for some people are professions for others: a game tester may enjoy cooking as a hobby, while a professional chef might enjoy playing (and helping to debug) computer games. Generally speaking, the person who does something for fun, not remuneration, is called an amateur (or hobbyist), as distinct from professional. 

An important determinant of what is considered a hobby, as distinct from a profession (beyond the lack of remuneration), is probably how easy it is to make a living at the activity. Almost no one can make a living at cigarette card or stamp collecting, but many people find it enjoyable; so it is commonly regarded as a hobby.

Amateur astronomers often make meaningful contributions to the professionals. It is -not entirely uncommon for a hobbyist to be the first to discover a celestial body or event.

In the UK, the pejorative noun anorak (similar to the Japanese 'otaku' meaning a geek or enthusiast) is often applied to people who obsessively pursue a particular hobby that is considered boring, such as train spotting or stamp collecting.

29. Which of the following is not true?

A. Hobbies make people feel relaxed and satisfied.

B. Hobbies can give people knowledge and experience.

C. Hobbies are mainly practised for profit.

D. Hobbies are recreational activities.

30. According to the passage, a hobbyist ________.

A. is usually paid for his hobbies 

B. may enjoy his work as a hobby

C. indulges in many hobbies          

D. is distinguished from a professional

31. Stamp collecting is commonly regarded as a hobby because

A. people can make a living at it 

B. people find it enjoyable

C. people find it profitable 


D. people find it easy to pursue

32. Which of the following is not called 'celestial bodies'?

A. the Galaxy 

B. planet 

C. stars 

D. the sun

33. What can be inferred from the last paragraph?

A. people who are very interested in boring hobbies are criticized.

B. stamp collecting is not popular nowadays.

C. the word 'anorak' is derived from Japanese.

D. a & b are correct.
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions. 
There is one planet that still fascinates and teases scientists mainly because it doesn't have an atmosphere to obscure observation, yet it is not big enough for sufficiently accurate telescopic observation. The fact that it is also very close to the sun also makes it difficult for astronomers.

However, space telescopes have told us a lot more about Mercury. It is rather similar to Earth's moon and to Mars. There are mountainous areas dotted with craters and large valleys which are uncratered. The moon's valleys have fewer cracks and the ridges are smoother. Mercury's valleys are filled with volcanic rocks, similar to on the moon, yet there is no evidence of volcanoes, even extinct ones, on Mercury, as there is on the both Mars and the moon, and of course here on Earth.

So, scientists presume the valleys on Mercury were caused by different things, that is to say not by volcanoes, but by very large meteorites, which also caused the cracks in the terrain and left the ridges rough and uneven. More and better photos of Mercury are needed to prove what are at present at best only hypotheses.

34. What is the topic of this passage?


A. The planet, Mercury 
B. Observation of planets


C. The Earth's moon 

D. Astronomers' difficulties

35. Why does Mercury still tease scientists?

A. Because it has an atmosphere which obscures observation:

B. Because it is too close to the sun;

C. Because it is too small.

D. Because it is difficult for space probes to get close to.

36. What is true about Mercury but not true about the moon or Mars?


A. The valleys are filled with volcanic rocks. 
B. There are no volcanoes.


C.  The valleys are uncratered 

D. There are hilly regions.

37. What does the author imply space telescopes can do better than land-based telescopes? 


A. Show, the volcanoes on Mercury.
B. Show the meteorites which hit Mercury.


C. Show what caused Mercury's valleys.
D. Show more of the planet, Mercury.

38. What can we infer from the passage that astronomers still need to get more detailed observation of Mercury?


A. Better and more space telescopes  
B. More hypotheses.


C. Larger space telescopes 
D. More ways to prove hypotheses.

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions. 
39.  Your sister can play the guitar, can she?

          A                      B            C         D

40.  She spoke in a very low voice, but I can understand what she said.

                             A                           B     C                                   D 

41. It was his mother who is on the phone.

           A    B                C        D

42. I don’t like the tie that you are wearing it.        

          A            B         C                              D

43. All the students in the class are enough good to pass the final exam.

          A                                

 B                  C             D

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions. 

44. In the class of twenty, Jeanne is the third best student.

A. Two students are smarter than Jeanne.

B. The class has only three smart students.

C. No other student is as smart as Jeanne.

D. Jeanne is not as smart as most of the other students.

45. She is unqualified to fill the position as executive secretary of the firm.

A. Both she and the executive secretary have a firm position.

B. She possesses the firm qualities of an executive secretary.

C. Firmness is needed to qualify one for position of executive secretary.

D. The job of executive secretary requires more skills than she has.

46. The children looked forward to getting new clothes for Christmas.

A. The children expected new clothes as Christmas gifts.

B. The children wanted to wear new clothes on Christmas Day.

C. The children looked for new clothes for Christmas.

D. The children got dressed for Christmas Day.

47. The patient recovered more rapidly than expected.

A. The patient didn't recover as fast as expected.

B. The patient made a more rapid recovery than expected.

C. The patient recovered more slowly than expected.

D. The patient didn't get well as expected.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions. 

48. We cut down many forests. The Earth becomes hot.

A. The more forests we cut down, the hotter the Earth becomes.

B. The more we cut down forests, the hotter the Earth becomes,

C. The more forests we cut down, the Earth becomes hotter.

D. The more we cut down forests, the Earth becomes hotter.

49. The new restaurant looks good. However, it seems to have few costumers.

A. In spite of its appearance, the new restaurant does not appear to attract much business.

B. The new restaurant would have more customers if it looked better.

C. In order to get more business, the new restaurant should improve its appearance.

D. If it had a few more customers, the new restaurant would look better.
50. The first boy has just moved. He knows the truth.
A. The first boy who known the truth has just moved.

B. The first boy who knows the truth has just moved.

C. The first boy whom knows the truth has just moved.

D. The first boy knows the truth has just moved.

PRACTICE TEST FOR UNIT 16
Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.

1. A. raised 


B. ranked 

C. surpassed 

D. laughed
2. A. suggest 


B. century 

C. upon 

D. bury

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions. 

3. A. architect 

B. attraction 

C. museum 

D. construct

4. A. satellite 

B. artificial 

C. heritage 

D. ancient

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 

5. The structure consisted ______ approximately 2 million blocks of stone,

A. on 


B. with 

C. of 


D. in

6. The Great Pyramid ranked ______ the tallest structure on earth for more than 43 centuries.

A. in 


B. of 


C. at 


D. as 

7. A visit to the Great Wall will certainly bring tourists great ______ in each step of the wall.

A. excite 


B. exciting 

C. excitement 
D. excited

8. The first question must ______ before you attempt the others.

A. be answered       
B. have answered 
  C. answer 
        
D. to answer

9. The building ______ the earthquake but then ______ by a fire.

A. was survived - destroyed 


B. survived - was destroyed

C. survived - destroyed 



D. was survived - was destroyed

10. 'Did you like the film?' ' Well, after ______ the book, I was a bit disappointed.'

A. have read 

B. having read 
C. am reading 

D. had read

11. Peter: “Is it important?”- Thomas: “________”

     A. Not on your life! 

B. It’s a matter of life and death!

     C. No worry, that’s nothing. 
D. It’s ridiculous.

12. Ann. “Does the global warming worry you? - Mathew. “________”.

     A. What a shame! 

B. Oh, it’s hotter and hotter

     C. I can’t bear to think about it.
D. I don’t like hot weather, in the garden all day.

13. The Great Wall is China's most popular ______.

A. construction 

B. attraction 

C. impression 

D. contribution

14. I think you should ______.

A. have your hair be cut 



B. have your hair cut

C. cut your hair 




D. have your hair been cut

15. Both domestic and imported automobikes must ______ anti-pollution devices.

A. equip with 

B. equip by 

C. be equipped with 

D. be equipped by

16. ______ that we have to leave the building. 

A. We have informed 



B. It has been informed

C. It has beep informed us 


D. We have been informed

17. You and I went there together, ______?

A. didn't you 

B. did you 

C. did we 

D. didn't we

18. We are all keen ______ taking a trip to the Great Wall of China.

A. to 


B. on  


C. of 


D. in

19. What's wrong with your car? ~ I think it needs ______.

A. check 


B. checking 

C. to check 

D. be checked

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.
20. The Great Pyramid of Giza is one of the, famous man-made wonders of the world.

A. artificial 

B. natural 

C. modern 

D. enternal

21. The Ponagar Cham Towers are located on Cu Lao Marble Hill, 2 km north of Nha Trang.

     A. lain 


B. built 

 C. sited 

   D. detected

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions. 

22. He advised me to practise playing the guitar regularly. 

A. unusually 

B. commonly 

C. freely 

D. completely

23. Another hobby of mine is keeping fish.

A. omitting 

B. discharging 
C. releasing 

D. delivering

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks.

The Hanging Gardens of Babylon and the walls of Babylon (near present-day Al Hillah in Iraq) are (24)______ one of the original Seven Wonders of the World. They were built by Nebuchadnezzar II around 600 BC. He (25)_____ to construct the gardens to please his wife, Amytis of Media, who longed (26)______ the trees and beautiful plants of her homeland. The Garden was located in a plain; and the circuit of its wall was three hundred and eighty-five miles. The thickness of its wall was thirty-two feet; built up in tiers (27)______ it resembled a theater. There was some controversy as to whether the Hanging Gardens were an actual creation or a poetic creation due to the lack of documentation of them in the chronicles of Babylonian history. In ancient writings the Hanging Gardens of Babylon were first (28)______ by Berossus, a Chaldean priest who lived in the late 4th century B.C. These accounts were later elaborated on by Greek historians.  

24.  A: appreciated
B: considered
C: seen
D: thought
25.  A: said
B: is said
C: was said
D: was saying

26. A: for
B: of
C: to
D: with

27. A: although
B: if
C: as though
D: so that

28. A: supported
B: described
C: shown
D: watched
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions. 
Taj Mahal, a mausoleum in Agra, India, regarded as one of the most beautiful buildings in the world. The Mughal emperor Shah Jahan had it built in memory of his wife, Arjumand Banu Bagam, known as Mumtaz Mahal (Persian for "Elect of the Palace"), who died in 1631. 

Building commenced about 1632. The mausoleum was complete by about 1643 and the surrounding complex of buildings and gardens was complete by about 1653. Situated on the southern bank of the Yamuna River, the white marble mausoleum is composed of four identical facades, each containing a large central arch 33 m (108 ft) high. A large bulb-shaped dome, over 73 m (240 ft) tall, rises over the center, with four smaller domes surrounding it. The building is raised on a square podium with a minaret at each corner. It is flanked by two red sandstone buildings-a mosque and its replica, the Jawab (Answer), a building of which the main function is visual balance. Visitors approach the Taj Mahal through an imposing red sandstone gate, decorated with inscriptions from the Muslim holy book, the Qur'an (Koran). The gate and accompanying walls also contain a vast, geometrically laid out garden, 305 m (1,002 ft) on each side. The enclosed garden, itself a Muslim symbol of paradise, is centered on a large, raised pool. Canals divide it into four equal parts, each containing flower beds, fountains, and cypress trees (symbols of death).

Inside theTaj Mahal, the tomb of Mumtaz Mahal stands at the center of an octagonal hall, while the slightly larger tomb of Shah Jahan, who died in 1666, is off to one side. Both are elaborately carved and inlaid with semiprecious stones, illuminated by sunlight filtering through an elaborately carved marble screen that is also studded with jewels. 

29. What is the Taj Mahal?

A. A temple 
         B. A monument 

C. A tomb  

D. A shrine

30. Which of the following is not true?

A. The Taj Mahal was built by the Mughah emperor Shah Jahan.

B. It took approximately 20 years to complete the mausoleum.

C. The front of the building is similar in all sides.

D. The mausoleum has four domes around it.

31. The word 'minaret' in line 11 is closest in meaning to ______.

A. tower 

         B. mosque 

C. altar 
           D. statue

32. The Jawab ______.

A. is a mosque where people worship



B. has a main function of decorating.

C. was decorated with inscriptions from the Koran

D. was built by red stones

33. According to the passage, which of the following statements is false?

A. The garden of the Taj Mahal is a Muslim symbol of paradise.

B. In beauty of design and rich decorative detail, Taj Mahal is one of the best buildings in the world.

C. The Mughah emperor Shah Jahan died 35 years after his wife.

D. The tombs of Shah Jahan's and his wife are located at the center of the mausoleum.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions. 

The ruined temples of Angkor are perhaps one of the mast impressive Seven Wonders of the World. Located in modern day Cambodia near Lake TonIe Sap, the largest freshwater lake in Asia, Angkor was the seat of power for the Khmer Empire from the ninth to the fifteenth century. The ruins of Angkor are d9cumented as same .of the mast impressive ones in the world, rivaling the pyramids of Giza in Egypt. Why this mighty civilization died out is a question that archeologists are now only beginning to ponder. The answer, it turns out, may be linked with the availability of fresh water. 


One possible explanation far the downfall of the Khmer Empire has to do with the inhabitants' irrigation system. The temple and palaces of Angkor were constructed around a series of artificial reservoirs and canals which were annually flooded to capacity by the Mekong River. Once filled, they were used to irrigate the surrounding rice patties and farmland during the course of the year. Farmers were completely dependent upon the water for their crucial rice crop. Without consistent irrigation, the farmers would have been unable to maintain functional crop production. 


Scientists speculate that toward the end of the Khmer Empire the hydraulic systems of the reservoirs and canals broke down. The construction of hundreds of sandstone temples and palaces required an enormous amount of physical labor. In addition, as the capital of the Khmer Empire, Angkor contained upwards of one hundred thousand people who resided in and around Angkor. In order to feed so many people, the local farmers were driven to grow food quicker and more efficiently. After centuries of continual use, the irrigation system was pushed beyond its capacity. Soil erosion, nutrient depletion, and the loss of water led to decrease in the food supply. With less food available, the people of Angkor slowly began to migrate to other parts of Cambodia thus leaving the marvelous city of Angkor to be swallowed by the jungle. Therefore, it is speculated that the Khmer Empire may have fallen victim to its own decrepit infrastructure.

34. What is the passage mainly about?

A. Modern day agricultural procedures in Cambodia.

B. A possible explanation for the, decline of a civilization.

C. The essential role water plays in farming. 

D. Religious temples of the ancient Khmer Empire.

35. The passage preceding the passage most likely discusses ______.

A. architecture of ancient Asian civilization

B. religious practices of the people of Angkor

C. the form of government practiced by the Khmer Empire

D. the other six wonders of the world

36. According to the passage, Lake Tonle Sap in Cambodia ______.

A. is an enormous fresh body of water in Asia

B. was unable to supply enough fish for the people of Angkor

C. became polluted due to a population explosion

D. is one of the Seven Wonders of the World

37. Why does the author mention the hydraulic systems of the reservoirs?

A. They supplied irrigation from the Indian Ocean.

B. They became non-functional due to overuse.

C. They were destroyed by nearby warrior tribes.

D. They helped transport the sandstones for constructing temples.

38. It can be inferred from the passage that the inhabitants of the Khmer Empire ______.

A. were intentionally starved by the farmers

B. lost their food source due to excess rainfall

C. supplemented their diets with 'meat hunted in the nearby jungles

D. depended upon rice as their main source of food

39. All the following are mentioned as events that can affect food supply EXCEPT.

A. erosion of soil 

B. contamination of soil

C. reduction of nutrients 

D. loss of water supply

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions. 
40. They are planning on attending the convention next month, and so I am.

                            A                B                                                    C  D

41. Financier Andrew Mellon donated most of this magnificent art collection to the National Gallery of Art,
                                                    A                                   B

      C
 where it is now locating.

                                      D 

42. Because of its vast tracts of virtually uninhabited northern forest, Canada has one of the lowest
                         A                            B







        C
population density in the world,

                              D 

43. Some of the people were standing the street watched the parade, while others were singing songs.
                    A                                B                            C 


     D 

44. As soon as Pete had arrived, he told us that he will be leaving for London tomorrow after the board meeting.
                                         A                                           B 



 C                     D

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions. 

45. He liked London very little and Vienna less.

A. He liked Vienna but not London

B. He thought Vienna was worse than London.

C. He liked Vienna more than London

D. He didn't like Vienna as much as London

46. She tends to lose her temper for no reason.

A. She has no reason so she loses her temper

B. She has no reason for tending to lose her temper.

C. She easily gets angry when there is a reason.

D. She often gets angry for no reason.

47.  “You’re always making terrible mistakes”, said the teacher.

A The teacher asked his students why they always made terrible mistakes. 

B The teacher realized that his students always made terrible mistakes, 

C. The teacher complained about his students making terrible mistakes.

D. The teacher made his students not always make terrible mistakes. 

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions. 

48. The man wanted to get some fresh air in the room. He opened the window.

A. The man wanted to get some fresh air in the room because he opened the window.

B. The man opened the window in order to get some fresh air in the room.

C. The man got some fresh air in the room, even though he opened the window.

D. Having opened the window, the room could get some fresh air.

49. She turned the radio at 7:30. She was still listening to it when her mother came home at 9:00.

A. She has been listening to the radio at 7:30.

B. She had been listening to the radio since 7:30.

C. She has been listening to the radio after 7:30.

D. She has been listening to the radio by 7:30.

50. Joe does a lot of exercise. He’s still very fat

A. Despite the fact that doing a lot of exercise, Joe’s still very fat

B. Joe does a lot of exercise, so he’s very fat

C. Even though joe does a lot of exercise, he’s very fat.

D. Joe’s very fat, but he does a lot of exercise.

